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a) y=x24+6x+5 [y=x?] b) y=2x2—-8x+9 [y=2x?%]

¢) y=—x>+3x+1 [y=-x?] d) y=-x—2x* [y=-5%

Y

-6: -5 -4 3 -2 -1 [0 1 2 3 4 5 6

-2

-3

i




FHAES K%

ROBEKICDONT, () RICRULIEESHICST SR AEER/IVBEAERDEL. &z, ¥DEEDx D
BAERD L.

a) y=x2-2 (0<x<3) b) y=x2+2x-3 (-1<x=Z2)

) y=3—-x* (2=5x=21) d) y=—x2+4x (-1<x<4)
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a) 2x24+7x+3=0 b) 4x>2—-12x4+9=0 c) x24+3x—-2=0
5 5 x2 x 1
d) 3x*=5x—-1=0 e) 3x*—=7x+1=0 fy —+=-—-=0
3 2 4
n(n —3)

(6] n BEONAEERE EHB. NARH 20 KDL HLIIABED.

2

MORSHIBORSLY lem IZHROEAEDHS. BEHD 21lem? ThHBEE, #it, BORSFEN
Enh<sh.

BOMEL VD Sem BORABEOR— VLD S. X DWEHS—LH 3em DEHFEENPU LY, KU
DOWAZEFUHFT, HAcDBOEZDBE, BEN 108cm?® (LB8DEVD. TOR—VEDHEEOR
SERDK.



0] ROFTEXAERS. FICXORENERLEICEKY.
a) x24+4x—-12<0 b) 2x24+x—-62>0 c) 2x2—x <0

d) 6x2+10x—4>0 e) x(x—8) > 12x — 100 f) x2—x+1=5x-8
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